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NEW QUESTION 1
Fill in the blanks to complete the python script to request a service ticket using the APIC-EM rest API for the user “devnetuser”.
import requests WIS @ Sence hoket using the APIC-EM RES'

header = ( ‘Content.type’ ST ", passworer “371274738)
FEspOTae- ] past(un, datasjson dumpsipayicad), \
headers=|_ - | . venty=F alse)
r_json = response json()
pnnt(r_json)
ticketl = r_json| “response”|["service Ticket”]
print(ticket)
A. Mastered

B. Not Mastered
Answer: A

Explanation:
Solution as below

import requests

M devnetap: asco convsandbox/

= i G

url = "htps /™ + controller + “/api'vaticket” Ao

payload = { ‘usemame" |, ‘password’ '3713876577)

hmdu=tmr_ﬂmi}
response = jequests post{url, data—json dumps(payload), \

headers— | . venfy=Faise)
r_json = son()
idnelr: r JerﬂmeTmr'l

)

NEW QUESTION 2
Refer to the exhibit.

Which two statement describe the configuration of the Ansible script is run? (Choose two.)
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[_] CertShared

A. Traffic on port 0/2 and 0/3 is connected to port 0/6.

B. Traffic from ports 0/2 to 0/5 can flow on port 0/1 due to the trunk.

C. Traffic can flow between ports 0/2 to 0/5 due to the trunk on port 0/1.

D. GigabitEthernet0/2 and GigabitEthernet0/3 are access ports for VLAN 6.
E. GiabitEthernet0/1 is left unconfigured.

Answer: BD

NEW QUESTION 3
Refer to the exhibit.

cholce transmission-params {
cane auto |

Leaf duto-negotiate |
type =mpty;
[

b

Case manual |
laaf duplex {
type enumeration |
enum “hal#~:
ernum “full”
L=t Y F L | 1
type smumerat jon |
Enum 0 1BMh
e 5 i -

m 16 ;

What is represented in this YANG module?

A. interface management
B. topology

C.BGP

D. OpenFlow

Answer: A

NEW QUESTION 4
Which two items are Cisco DevNet resources? (Choose two.)

A. TAC support

B. Bitbucket

C. Sandbox

D. Software research
E. APl Documentation

Answer: CE

NEW QUESTION 5
Which way should be used to safely the API keys?

A. In an environment variable unique to the system database

B. Encrypted in a configuration file that is separate from the code
C. Encrypted in the code in a function

D. Plain text in the code as a constant

Answer: B

NEW QUESTION 6
Refer to the exhibit.

#!/bin/bash

read ndir

while [ -d “$ndir” ]
do

cd $ndir

done

mkdir $ndir

What is the action of the Bash script that is shown?
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A. The script waits until input is entere

B. If the directory exists, the script goes into it until there is no directory with the same name, then it creates a new directory.
C. The script goes into the directory called “$ndir” and makes a new directory called “$ndir”
D. The script waits unit input is entered, then it goes into the directory entered and creates a new directory with the same name.

E. For all directories in the current folde

F. The script goes into directory and makes a new directory.

Answer: A

NEW QUESTION 7

Drag and drop the network automation interfaces from the left onto the transport protocols that they support on the right.

S5H

A. Mastered
B. Not Mastered

Answer: A
Explanation:

gRPC = C, NETCONF = A, RESTCONF =B, D

NEW QUESTION 8

gRIPC

FESTCONF

Which two NETCONF operations cover the RESTCONF GET operation? (Choose two.)

. <get>

. <edit>

. <get-update>

. <modify-config>
. <get-config>

moQoOwo>

Answer: AE

NEW QUESTION 9
Which description of a default gateway if true?

A. It is a device that receives IP packets that have no explicit next-hop in the routing table.

B. It is a feature that translates between public and private addresses.

C. ltis a security feature that denies certain traffic.

D. It is a device that receives Layer 2 frames with an unknown destination address.

Answer: A

NEW QUESTION 10
Refer to the exhibit.
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URL: https://<ASA_IP>/api/access/global/rules
Method: POST
Payload:

{

“"destinationAddress”: (
“kind”: "“IPv4Address”,
“walue”: *10.1.1.1"

},

“remarks”: [ ],

“active”: true

“permit”: true,

“sourceAddreas®: |
“kind”: "“IPv4Address”,
“walue”: =192.168.1.1"

Response Status Code: 400 Bad Request

{“messages”:[{“level”:"Error”,"code”:"JSON-PARSE-ERROR", “details”:”

Unexpected character (\"™' (code 34)):

What caused the error in this API request?

A. The API resource does not support the POST operation.

B. The API resource does not support JSON format payloads.

C. The submitted JSON payload includes a field that is not supported by the API resources.
D. The submitted JSON payload has a formatting issue.

Answer: D

NEW QUESTION 10
Drag and drop the functionalities from the left onto correct networking devices on the right.

ports are different broadcast " 0
domain by default irewa

ports can be in the same

broadcast domain Load Balancer

uses traffic inspection to make

routing decisions Router

blocks networks traffic by default Switch

A. Mastered
B. Not Mastered

Answer: A

Explanation:

1-D,2-C,3-A,4-B

NEW QUESTION 14

Which two statements describe the advantages of using a version control system? (Choose two.)

A. It allows for branching and merging so that different tasks are worked on in isolation before they are merged into a feature or master branch.
B. It allows multiple engineers to work against the same code and configuration files and manage differences and conflicts.

C. It provides tooling to automate application builds and infrastructure provisioning.

D. It allows developers to write effective unit tests.

E. It provides a system to track User Stories and allocate to backlogs.

Answer: AB
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NEW QUESTION 16

An application calls a REST API and expects a result set of more than 550 records, but each time the call is made, only 25 are returned. Which feature limits the
amount of data that is returned by the API?

A. pagination

B. payload limit

C. rate limiting

D. service timeouts

Answer: A

NEW QUESTION 18
Refer to the exhibit.

class ucsmsdk.ucshandle.UcsHandle(ip, username, password, port=None,
secure=None, proxy=None) [source]

Bases: ucsmsdk .ucssession.UcsSession

UcsHandle class is the user interface point for any Ues related communication.

Parameters: e+ ip (str) — The 1P or Hostname of the UCS Server
e username (str) — The username as configured on the UCS
Server
- pa_-,;_q“.*urd; (str) — The password as configured on the 1TCS
Server
« port (infor None) — The port number to be used during

connection

e secure (bool or None) = True for secure connection, otherwise
False
s proxy (str) 'he proxy object to be used to connect

Given the API documentation for the UCS SDK python class, UcsHandle, which code snippet creates a handle instance?

From ucsmadk _ucshandle import UcsHandle

handle = Ul‘.ﬂHiﬂdlt{“lB.l,l.ISi". “admin" .,

[=1v o '_t"‘d!w 2 Btﬂci.r&:TruE] FI'!-'!HHF::I- ¥

Ml fusr/baindeny pythand
impar !t ucsesdk . ucshamdle UcsHamdle

handle = UcsHarmdle! 14 1 2 754" Tackmin pas el
port=443, securesl)

g fusr /banteny pythond

from ucsmedk ucshirmile Amiart b sHund Le
- 3 i v JiEe— o Al L]
harelle = (¢ coaruvilei vE= "1 1 2 M5 fic): -1'” )
. = F ' ! e
I.d-.f.wl_‘lr-frr"'“i okt i =44 Lo i
AT, ey pyTaing

A. Option A
B. Option B
C. Option C
D. Option D

Answer: B

NEW QUESTION 23
Which Cisco DevNet resource allows access to products in a development lab to explore, learn, and build application that use Cisco APLs?

A. DevNet communities
B. DevNet code Exchange
C. DevNet Automation Exchange
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[_] CertShared

D. DevNet sandbox

Answer: D

NEW QUESTION 26
Refer to the exhibit.

def process devices (dnac, token):
url = “httpe://()/epi/vl/netvork-devi
X -~ ce® . format (dnac [ *hoaae*
Hlnd-r-["u-nuth-tuk-n“] = tokon ; l !
response = requests.get(url, headers=headers, verify=False)
data = response.jsoni()
for item in data|®responae®]:

print {item|"hostname®],”® *, item|"managoment]phddreas®])

What is the function of the python script?

A. Count and print the total number of available devices.

B. Iterate over a list of network devices and write all device names and management IP addresses to anoutput file.

C. lterate over a list of network devices and write all device type and associated management IP address.

D. For each device that is returned, display the device and, for each device, print the device name and management IP address.
E. Loop through the returned list of network devices and, for each device, print the device name management IP address.

Answer: E

NEW QUESTION 28

Which action does the Git command git merge allow the development to perform?
A. Combine multiple sequence of commits into one unified history.

B. Push changes to the remote repository

C. Switch between branches

D. Create, list, rename, and delete branches

Answer: A

NEW QUESTION 29
Drag and drop the descriptions from the left onto correct application deployment models on the right.

provides a low-latency compute capability close to the data Publc (loud TP sy
SOLINC . I
emvironment where you pay only for the resources that you
€ OISV l
offers a selfl-service, elastic compute environment from 3 — e
dedwated set of physical resources Private Cloud
prowides an approach tor overtlow traffic to burst out to meet I |
peak demands I AR FLE e ind b il | L
it - Hbrd Clowd
chared compute platform that i offered aF The [nTermd ‘
r 1 ] L | (418 B
A. Mastered

B. Not Mastered
Answer: A
Explanation:

1-B,2-E3-C,4-D,5-A

NEW QUESTION 30
Refer to the exhibit.
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#!/bin/bash
<item 1>='date +%b-%d-%y’

<item 2>=/home/usr/path/backup-$BACKUPTIME. tar.gz
<item 3>=/home/usr/path/data folder

tar —-cpzf S$DESTINATION $SOURCEFOLDER

Drag and drop the variables from the left onto the item numbers on the right that match the missing assignments in the exhibit.

BACKUPTIME <item 1>
SOURCEFOLDER <item 2>
DESTINATION <item 3>

A. Mastered
B. Not Mastered

Answer: A

Explanation:
1-A,2-C,3-B

NEW QUESTION 34
Which two descriptions can be given to an application that is interacting with a webhook? (Choose two.)

A. Processor

B. Codec

C. Listener

D. Receiver

E. Transaction monitor

Answer: CD

NEW QUESTION 36
Which two encoding formats do YANG interfaces support?

A. JSON

B. XML

C. XHTML
D. Plain text
E. BER

Answer: AB

NEW QUESTION 37

Fill in the blanks to complete the Python script to update the Webex Teams membership of a room using the Python requests library import requests
mport 1 ! - e RIS IR U TOOM USINg the Fython requests library
equisls

url = “Ips ap1 c1scospark comvv /et Y

1?(‘-“}\{ : o ; “lMl,ll !r1lhllrl-l-.. 5 ._:; i lII| ::hzl- II|-I1|. ¥ L] .h!+ -I-.'I' L [,Ii -.I:r,rr'n.' 171604 | ks l_'-|-"4i“_-."-,"_-l'||,',-f :I'I__||_r-,1;-i'Hh~'.:|ll.-1|'F rNJf
WY TkeNw ARSI Y Wl T Y 2 THIOS 140 WAl WiNmkigInT
payload = “['n CisModeraton” e

headers - |
‘Authonzaton Bearet
Contet-Type' “apphicationison

response - 1equests 1 | o

CPATCH

il P T
panl{response text encodel utis ) ' e — || ilata J

A. Mastered
B. Not Mastered

Answer: A
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Explanation:
request, headers , payload

NEW QUESTION 42
What are two advantages of the Model-view-controller software design pattern? (Choose two.)

. simplifies network automation

. allows for multiple views of the same model

. makes code easier to deploy using CI/CD pipelines

. reduces need for error handling

. separates responsibilities of the code, which makes future modifications easier

moQoOw>»

Answer: BE

NEW QUESTION 45
What are two security benefits of a Docker-based application?

A. easier to patch because Docker containers include only dependencies that the application requires

B. prevents information leakage that can occur when unhandled exceptions are returned in HTTP responses
C. allows for separation of application that traditionally run in the same host

D. natively secures access to secrets that are used by the running application

E. guarantees container images are secured and free of vulnerabilities

Answer: AC

NEW QUESTION 50
A company has written a script that creates a log bundle from the Cisco DNA Center every day. The script runs without error and the bundles are produced.
However, when the script is run during business hours, report poor voice quality of phones calls. What explains this behavior?

A. The application is running in the Voice VLAN and causes delays and jitter in the subnet.

B. The speed and duplex settings in Cisco DNA Center are sot incorrectly, which causes the transfer to be too slow.

C. 9 The script is written in a low-level programming language where there is no memory safet

D. This causes a buffer overflow and disruption on the network.

E. Generating the logs causes the CPU on the network controller to spike, which causes delays m forwarding the voice IP packets.

Answer: D

NEW QUESTION 53
Fill in the blanks to complete the statement.

Given a username of “devnet” And a password “Cisco123", applications must create a base64 encoding of the string” " when sanding HTTP requests to
an API that uses authentication.

Given a usemame of "devwnel” and a password of "o 0123", apphcabons must create a basebd encoding ol trm]l:.mn;g‘ s

]L ] I]" when sendindg | iITTP requesis o an AR that uses o - authentcatic

A. Mastered
B. Not Mastered

Answer: A

Explanation:

Given a uscmame of "devnet” and a password ol "osce123

b"‘\ﬂ\f't'.l. isc0123 I| = when sending HTTP requests to an APl that uses Llid‘rlt e

apphcabons must create 8 basef4 encoding ol Ine Sinng
I authenbcaton

NEW QUESTION 58
Which statement describes the benefit of using functions in programming?

A. Functions allow problems to be split into simpler, smaller groups, and reduce code repetition, which makes the code easier to read.
B. Functions ensure that a developer understands the inner logic contained before using them as part of a script or application.

C. Functions create the implementation of secret and encrypted algorithms.

D. Functions store mutable values within a script 01 application.

Answer: A

NEW QUESTION 62
Refer to the exhibit.
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§ pyang =f tree Cisco-I0S-IE-native.yang
module: Cisco-I0S-XE-native
+==rw native
+--r¥ logging
+==-rw monitor|
#--rd geverity? logging-level-type

§ curl --insscure -v =X PATCH
“https://los-xe-mgmt-latest.cisco.com: 9443/ pestoont /data/Cisco-108-XE-native native”
-H 'Authorization: Basic IGVZINXveGVYQLMXEINVNTIINDU=' -H ‘Accept: application/yang-data+json’
-H ‘Content-Type: application/yang-dats4json’ \
-d | “Cisco-IOS-XE-pative:nativer : | "logging” : | “monitor” : | “sewverity” : "alerts” }} ) }'
- B
L ST
< HTTF/1.1 204 ¥o Content

The definition of the YANG module and a RESTCONF query sent to a Cisco 10c XE device is shown. Which statement is correct if the RESTCONF interface

responds with a 204 status code?

A. The query failed at retrieving the logging seventy level.

B. The query failed to set the logging seventy level due to an invalid path.

C. The query retrieved the logging seventy level.

D. The query updated the logging seventy level or created it if not present on the device.

Answer: D

NEW QUESTION 63
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